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Name: Date:

Notes: Double Displacement Reactions

What happens to the electrons of metals?

What type of charge do metal ions have?

Define oxidation:

What happens to the electrons of nonmetals?

What type of charge do nonmetal ions have?

Define reduction:

What is true of oxidation and reduction?

How would a chemical reaction occur that was not a redox reaction?

Why would this type of reaction not be considered an oxidation-reduction reaction?

Describe double displacement reactions:

Describe a precipitation reaction:

What is a precipitate?

What is true of the reactants in a precipitation reaction?

What happens to ionic compounds when they dissolve in water?

What happens when the solutions mix?

What are spectator ions?

Describe an acid-base neutralization reaction:

What liquid is produced when an acid neutralizes base?
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What is the pH of a neutralized solution?

What other kind of compound is produced during a neutralization reaction?

WHAT ARE THE KEY CHARACTERISTICS OF A PRECIPITATION REACTION?

WHAT ARE THE KEY CHARACTERISTICS OF AN ACID-BASE NEUTRALIZATION REACTION?

For each of the double displacement reactions on your notes, determine if the reaction is a
precipitation reaction or a neutralization reaction.

2NaOH (aq) + H2C03 (aq) =2 2H20 () + Na2CO0s3 (aq)

Mg(NO3)2 (aq) + Li2SO4(aq) 2 MgS0a (s) + 2LINOs3 (aq)

Pb(C;H30); + NaCl = NaC;Hs0; + PbCl,

2HCl + Ca(OH); = CaCl; + 2H,0

ng(N03)2 (ag) T ZKBI"(aq) 9 ngBrz (s) + 2KN03 (aq)

2LiOH + 2H,S03 = 2H,0 + Li»SO3

Sr(OH); + 2HCI > SrCl, + 2H,0

CaSO4 + SrBr, = CaBry + SrSO4

AgNOs + KCI > AgCl +KNO;3

Ba(OH)Z(aq) + 2HI (aq) 9 ZHZO 0] + Balz(aq)

Fe(C2Hs0;)2+ 2NaOH = 2NaC;H302 + Fe(OH);

H3POs + 3KOH + = 3H,0 + K3PO4

Y% NH3 (aq) + HNO3 (ag) = NHiNO3 (aq)




